H| S AF AHSHH 2 HE| S A

7

2022 4



. EX/Z (22.07.13)
Seanie e B e szun | US| "%
O1 SXEHE LX40A 10.236 78 13¢ 13:01 0.002 ELESR]
02 SXNEAHE2 LX40A 10.228 7€ 13¢ 13:03 0.002 BH Ad 0o
03 SXNZAHE3S LX40A 10.213 78 13¥ 13:08 0.002 ELESR]
04 SAEdH &4 LX40A 10.224 7€ 13g€ 13:10 0.002 BHA Y
05 & LX40A 10.232 7€ 132 13:15 0.003 ELESRE]
06 M AH P LX40A 10.207 78 132 13:20 0.004 ELESRE]
o7 HIIZ8EF LX40A 10.248 72 132 14:31 0.004 ELESRe]
08 HIIZ22XE LX40A 10.246 782 13Y 15:20 0.004 ELESR ]
TIIE2 0.01(H/cc)Ol st LIC.
TN HI2013-7950) M2} ANK BOIZOE A0, HAIIE0 B2 SRS

¥ Ed=
® BHAE
H ==t SLICH




1.

E3Z 1 (22.07.14)

7 == x| = =mz=1 | 22400
bis =N H i S == 4 | =
Mitl= A =z/22) | W= e (f/ce) ==
01 HoI282X& L X40A 10.250 78 14  7:00 0.003 LR

# SHEEIIEES 0.01(f/cc)0l6HALICH cho | _
% #Z2 DA H2013-7950) Tet SIAX HOIPOE SHBIAH, H 40| F0 Kt 498
H 4Bt RAELIC




1. 5321 (22.07.15)

nzes | =anE | gRhb | am | %EN | TGS | TSe
01 2XBAH A LX40A 10.264 7& 15¢ 07:02| 0.003 A
02 SXNBAHH2 LX40A 10.242 738 15%¢ 07:04] 0.003 M
03 SXNZHES LX40A 10.239 78 15¢ 07:09] 0.003 WA
04 2XNZAHS4 LX40A 10.244 78 152 07:11 0.003 M H
05 HoISEEL LX40A 10.272 738 154 07:25| 0.004 A
06 HoI222XE LX40A 10.240 78 152 07:28| 0.003 WM™

# SESEIIEE 0.01(f/cc)olat2LICH

% SZ2TAl H2013-7950)l M2l !Xt S0IZF2Z E46IAH, H=J|=0 et 87

H=otRASLICH




=gy}

Ko

KIr
Ed

17:10

14:00

k:

Y

=2 Al

ko
&0
Hr

13:10

A AlZE:

&3
=3 AR AL

SXEHN
SXFH 2
SR ZEH 3
SXEH L4

13:20

ALEH AlZE:

=X
| o




= prv}

KO
K
<

K|
—

g AIE A

=
=

i &t

R0
L

Ko | §

E

ol =gt

HIIZS22XE

16:00

~J

Z A

ko
&0
Hr

15:20

EF ANE AIZH




2. 53X E (22.07.14)

=] vl

Kir

7:40

R0
Kir

7:00

S8 ANA A2

HIIE22X &




Hl 2

2. E3XH (22.07.15)

SEXE

07:02

FABH A

|
I
o

FABAL2

FABALS

SABAHE4

I S

I
o
OB
U

07:28

Hol2=2X3




3. AXIE (22.07.13)

#X|5344

#2483
T

&

b Rl

s

XA M2 .

14 W

Ve

&
R

|




